landscape

design studio pastoe 2012

Fournituren / Components

P A S T O

pastoe rotsoord 3 pobox 2152
3500 gd utrecht holland

E

tel +31 302586555 fax +31 30252 23 40

info@pastoe.com www.pastoe.com

=
=7
=
=
=
=
Bout @6x35mm Bout @6x20mm Afdekkapje scharnier Afdekkapje klepscharnier Open vak: lamello
Bolt @6x35mm Bolt @6x20mm Cap cover hinge Cap cover hinge Open compartment: lamello

Open vak: stift
Open compartment: peg

Ophangplaatje
Mounting plate

Plug en schroef @5x45mm
Plug and screw @5x45mm

Afdekkap
Cover mounting part

Afdekkap
Cover mounting part




Montage handleiding / Assembly instructions

P A S T O

LET OP: De kast dient voor wandmontage geassembleerd te worden. De kast wordt in z’n geheel aan de muur bevestigd. Volg hiervoor
onderstaande stappen. Bij kasten vanaf 2,85m dient het hangen van de kast met minimaal 3 personen te gebeuren.

NOTE: The cabinet must be assembled so it can be mounted on the wall. The cabinet is to be mounted on the wall as a whole. To do so,
please follow the steps below. To mount cabinets starting at 2.85m on the wall, three people will be required.

B B B Bz
B ’:5 1ts B
Bevestig de bodem mbv de bijgeleverde bouten (B=20mm) vanaf de onderzijde.
Secure the base from the bottom using the supplied bolts (B=20mm).
2 OPEN VAK / OPEN COMPARTMENT 3 OPEN VAK / OPEN COMPARTMENT

Indien er geen open vak aanwezig is ga verder naar 5.

Plaats het achterpaneel dmv de lamello’s (E). Plaats het open vak door deze over de stift (F) heen te schuiven.
If this cabinet does not feature an open compartment, please go Place the open compartment over the back panel by sliding it
on to step 5. Place the back panel using the lamellos (E). over the peg (F).

4 OPEN VAK / OPEN COMPARTMENT » 5

vanaf de onderzijde.
Plaats de volgende romp. Draai de minifixen (K) aan.

Place the following body. Tighten the minifixes (K). (B =20mm).

Bevestig de bodem mbv de bijgeleverde bouten (B=20mm)

Secure the base from the bottom using the supplied bolts

lange bouten kunnen het blad beschadigen.

Secure the finishing top from the bodies underneath using the supplied short bolts (B=20mm).
NOTE! Be sure to use the short bolts for this. The long bolts could damage the top.

Bevestig het blad mbv de bijgeleverde korte bouten (B=20mm) vanuit de rompen eronder. LET OP! Gebruik hiervoor de korte bouten, de

E



Montage handleiding / Assembly instructions

7

16 14 40

30 40 145 40 30

OI
© 4 4 & 4

Rompbreedte 286mm / Body width 285mm
+—>

30 40 430 40 30

OI
© & 4 R

Rompbreedte 570mm / Body width 570mm

v

A

30 40 375 40 300 40 30
o
© & 4 & 4 & 4
Rompbreedte 855mm / Body width 8565mm
30 40 500 40 460 40 30
o
© 4 4 4 4 b &

Rompbreedte 1140mm / Body width 1140mm

v

A

- |
Open vak breedte 285mm / Open compartment width 286mm
+—————>

Open vak breedte 570mm / Open compartment width 570mm

»
»

<
<

Vooraanzicht te boren gaten: Boor afhankelijk van de rompbreedte, de benodigde gaten in de muur. Open vakken hebben geen ophangers:
houdt wel rekening met de breedte bij het uitmeten van de boorgaten.

Holes to be drilled in the facing side: Drill the required holes in the wall according to the width of the body. Open compartments do not
require (or have) hangers. Do take the width into account when measuring out where to drill the holes.

P A S T O E



Montage handleiding / Assembly instructions

Sla de pluggen (H) in de geboorde gaten en schroef vervolgens
de ophangplaten (G) vast mbv de bijgeleverde schroeven (H).

Insert the plugs (H) into the drilled holes and secure the
Mounting plate (G) with the screws (H).

S

Bij het ophangen van een romp met laden dienen alle laden
gedemonteerd te worden. Knijp hiertoe de snappers aan de
onderkant van de ladenbak in en trek de lade naar voren.

When mounting a body with drawers, all drawers must be
removed. To do this, push in the snapper underneath the drawer
and pull the drawer towards you.

10-1

10-2

P A S T O

Draai de ophangers geheel uit in diepte (schroef b).
Completely unscrew (in depth) the hangers with the help of the
screw (b).

Bij rompen van 85,5cm en 114cm breed, zonder separatie in het
midden, wordt bovenstaande ophanger toegepast. Draai deze
ook in diepte uit (schroef c).

The above hanger is used for bodies that are 85.5cm and 114cm
wide and are without a separation in the middle. Hollow this out
as well (screw c).

1

}
—

12

Hang de romp aan de ophangers. Zorg ervoor dat de ophangers
goed over de ophangplaten hangen.

Hang the body with the hangers to the mounting rack. Make sure
the hangers are properly attached to the mounting rack.

Stel de romp waterpas en plaats na het stellen de afdekkappen
(lend).

To ensure the body is level, use the screw (10a,10d). Then slide
and push the cover (I en J) over the hangers

13

/

Plaats de lades weer terug in de kast. Duw hiertoe de laden-
geleiders uit, plaats de laden erop en schuif het geheel terug in
de romp.

Place the drawers in the body. In order to do this, pull out the
drawer rails, place the drawers on these and push them back
into the body.

E



